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I Analysis of penultimate clause of nwn — the pebble, salt or "1125 found in the ymp (invalid)
a  justification: if only taught 1% — because it doesn’t belong there at all
i and:if only taught salt — because it wasn’t part of the original nnin = need ymp
I Analysis of the rule —n» qon are invalid
a  challenge: if a rock (etc.) is inside, it’s invalid anyways due to nx»sn
i answer (77p7 "): could be a case where the rock is exactly in the middle — not a nx’sn, but a problem of qon
b ancillary discussion between 8277 »2%: manner of nx¥mp
i ~27 as people do (closing their fingers on their palm)
1 challenge: we refer to 4™ finger as "nxnp”
2 answer: pinky is used to even out the ymp
(a) meaning: he fills with his entire fist — to ensure it’s not deficient — then uses the pinky to level it out
(b) method: take all three fingers, cover entire palm —
(c) support: Rn»1a on vv. 1-2; adds that in case of nwnIM nann (where nxnp is after n»ar), use thumb as well
to even off top
(i) note: this is one of the 3 hardest mmay (along with 5”n12 nmvp nan and np*on)
¢ series of queries about ppyp, all left unresolved with y7°n
i 971 if he does n¥'np with his fingertips, from the side or underneath — is it valid? (yp>n)
ii 277 van 85n on 2"y requires full “grasping”
1 what if: he used his fingertips, from the side or took them in separate hands and brought them together? 1p'n
iii 977 if he stuck the ymp onto the side of the nw 93 —is it a valid 9312 jnn?
1 lemmal: does it need to be inside the *53 — and it is
2 lemmal: does it require nmn in the 3 — which doesn’t happen —1p’n
iv. owN "7 72 9 if he turned the ’53 upside down and stuck the ymp on the inside bottom — valid »31 1nn?
1 lemmal: does it require nmn inside — which there is
2 lemma?2: does it require “normal” placing — which this is not —1p’n
I 21 mwn: method of n¥mp — stretches out his fingers over his palm
IV 13 mwn: if he has too much oil, too little oil or too little N112% - invalid
a  definition of “too much 0il”: R — if he designated 2 % for the nwy
i challenge: why doesn’t he explain it as he took jnw of another nnin or pPon jpw?
1 proposal: perhaps those don’t invalidate
2 rejection: if so, 10w would never invalidate a R0y nmn (it doesn’t have its own)
ii  defense: Ry meant that not only 210 1nw etc. but even if he set aside 2 % — invalid
iii ~ Source (837): X" inferred from language of mwn — nMnw N7, instead of 1PV 1Y N2
b Analysis of “too little 72125”: ®n»»11 with opinions of minimal 11Yw
i mi 1. if it has at least two clumps — valid; only one — invalid
ii ~ @”7 even one clump is valid
1 Challenge: ™ is reported as ruling that if anything is missing from the n»a% — it’s invalid
(a) Answerl: means “if anything is missing from the [last] clump”
(b) Answer2: that refers to a n1a% brought by itself (as a nam); the 1¢t ruling is for 1129 coming with nnn
iii  Summary (11177 71-= as reported by 901’ 73 pny’ ’7): 3 opinions: (all inferred from v. 2 — ANanA HY TR MNYN 51 NR)
1  »”7 needs to be a full ymip of N111Y at time of wTpn and at time of nyvpPn
(a) Inference: same amount of N1aY as at time of being with nnn
2 »”rneeds to be a ymp of N1’ at time of wTpn and 2 “clumps” at time of nvpn
(a) Inference: 93 — allows for even 1 clump; Nk augments it to 2 clumps
3 »”:needs to be a ymp of nnaY at time of w1pn and 1 “clump” at time of nvpn
(a) Inference: 93 (per N> 1) — and he doesn’t infer anything from nx1
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iv  Additional ruling from pny 1 (from »7277): this 3-way dispute only applies to n112% which comes with nnn
1 But: all agree that a n112% brought on its own must have a full ymp through navpn
(a) Source: v. 2 stipulates nninn Yy 9WR — but not if independent
2 And: dispute only applies to n125 with nmmn, but n125 which comes in p>va (for mian onb) — all agree that 2
'¥np are needed from beginning until n1vpn
(a) Challenge: this is obvious — these are n112% which come on their own
(b) Answer: we might have considered them nninn oy nna’ since they accompany o290 on% — 5"np
v Note: among >R 'R1nR, dispute if the 3-way dispute is limited to nninn oy nRan nNay (per report in NV '7’s name
above) or whether each non maintains his position here too.
¢ Inference from “too little 72125”: but too much appears to be valid
i Challenge: ®n»»1 rules that too much is also invalid
1 Answer (n727): that’s in a case where he designates 2 n2np of N1 (not just a big ymp)
2 Therefore (n727): if he set aside 2 "212% *xnp but one got lost
(a) If: it got lost before n¥mp — valid (wasn’t yet set as part of the 127p)
(b) But if: it got lost afterwards — already invalid as “too much nna5”
3 Parallel: if he designated 4 n11a% »snp for 090 onY and 2 got lost
(a) If: they got lost before P12 ;%o — valid
(b) But if: they got lost afterwards — too late and it is invalid
4 Challenge: why add the second case; isn't it perfectly analogous to the first?
(a) Answer: R™0 that since the ymip here (nn9n Bnb) is pre-identified, once the time for p2’1a ;150 comes, it
should be considered as if it were already done and should be invalid (if it got lost after that point before
the actual ;9'0) — 9"np
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